MP HTO™ 80

— 1-1/2" x 1-1/4" End Suction Centrifugal Hot Oil Pump

by Gardner Denver

HTO80 is a patented, unique centrifugal pump designed for high temperature
applications, such as the plastics, chemical, food and processing industries.
The pump can be used in horizontal or vertical positions and is available with
or without an electric motor. It is designed to greatly reduce the temperature
at the seal by utilizing ambient air temperature which greatly increases seal
life.

Want to learn more about using pumps with heat transfer fluids? Click here to

view “Using Pumps with Heat Transfer Fluids” an article featured in Process
Heating Magazine written by MP Pumps’ Chief Engineer.

SPECIFICATIONS: AL
« Industrial

Suction And Discharge 1-1/2" x 1-1/4" NPT or flat flange option * OEM
Materials Of Construction Ductile iron Drive Sleeve
Flow Up to 85 GPM * Hardened 303 stainless steel
Head Feet Up to 130
Features
Impeller 5.9" steel, enclosed
« Isolated air cooled seal chamber
Motor Upto 3HP
Drive Options Close coupled 56C, Close coupled 145TC,

Pedestal, PUumPAK® (without motor)
Seal Carbon / silicon carbide / Viton

Temperature 650°F max



HTO™ 80

HTO SEAL COOLING PERFORMANCE
350

AMBIENT TEMPERATURE RANGE
70 - 110 FAHRENHEIT

300

SEAL TEMPERATURE (FAHRENHEIT)
N
v
o

n
o
o

150
250 300 350 400 450 500 550 600 650 700

BULK TEMPERATURE (FAHRENHEIT) C/N 5207-1

34800 BENNETT - FRASER, MI 48026-1686
P (586) 293-8240 - FAX (586) 293-8469 HTO™ 80
(800) 563-8006 - www.mppumps.com

PUMPS

by Gardner Denver



HTO™ 80

HTO - 80, 120, 300

) 25 WORKING PRESSURE LIMITS
o
11}
C . STANDARD CONSTRUCTION
< 20 DUCTILE IRON ASTM A536
é SEALSTYPE 2, S5
a
S 15 :
= |
o
5
= 10
=
=

50

0

100 200 300 400 500 600 700
OILTEMPERATUREF°  CN51053

34800 BENNETT - FRASER, MI 48026-1686
QM;P (586) 293-8240 - FAX (586) 293-8469

HTO™ 80
(800) 563-8006 - www.mppumps.com



HTO™ 80

CUBIC METERS PER HOUR
0 5 10 15 20
MODEL.__ HTO-80
.3 3600 RPM— 359, FraNE SIZE 1.5X 1.25
Bym=s=sw S _42: 50 IMPELLER DIA. 5.90 Lao
ot e e R T 54 S.G. _.85
12 7{ \/ i -
~ 9 ‘\\ -
o Nl ] N \/ = N \al
L 10 T E i <R 30
l'l'l | Y C
L [ 12850 N / N YA NR%
Q‘ O o e I J A >y ‘\j/ < = \\\ Y
'< 80 I B & - ' N \‘\ \‘\ N 51v
I:.Il:.l /17 Sil - : - NI/ 20
wd [ / ~ L
< 60 S NERES = P 3AP AR
o / = / ™ K\/ /,/‘\\~ FT.
" a0 “t ‘ S 20
L1750}/ HH AT 10
’ = - s 1.5
\40 \\\k ki\ > o 1
20 TS .50 HP — 10
= NPSH
0O 10 20 30 40 50 60 70 8 90 100
GALLONS PER MINUTE C/N 51042
(WP (02555200 rx s 3585 o as

(800) 563-8006 - www.mppumps.com

TOTALHEAD - METERS



HTO™ 80

CUBIC METERS PER HOUR
0 5 10 15 20
MODEL __ HTO80 i}
14 SIZE 1.5X1.25
i L L A SPEED__ 3450 RPM 1
0.9 Dl EV 40 as H+ S.G. _.85 10
12 ’ = 20
I / /. 5

\"Il\ / N ,/ \J\ \ E

E.lo 5,25 __‘NI ~7\ N - st 130 E
TR = / N \\ E
x [~ 1 [ NTHLT TN, AN %
E 80_4|-7|5 N I By LA A \5‘50% ()
Ll 1 T :\ ] \\ N >< [~ lf.l
.:El 14.25 R NEN - = 120 T

1 ] % N ~
2 60 S HNHSNCHHE 3 <
o NS T < 2 f=
=4 S N o
40 3 L5
11 HP 110
20 m——
|—|FT?T-|
0 10 20 30 40 50 60 70 80 90
GALLONS PER MINUTE C/N5103-1

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

HTO™ 80



HTO™ 80

11/4 NPT DISCHARGE

ALLOW 3" TO NEAREST 11/2 NPT SUCTION -7

/ O0BSTRUCTION FOR SERVICING
- A 7.10

5.00 /

ﬁ # ]
: 7: 777777 [ [ — }
L
—— 1/2 CONDUIT I 0 F | ,
b e aasior ; fee 295
3 PHASE TYPICAL TEFC ROUND BODY MOTOR 200 1mbe 200 :_ 450
FRAME HP PH “A” DIM TEFC 958 |

56C 1 3 9.31 '

56C 15 3 9.94

560 2 3 1.25 Pump dimensions certifiable for construction purposes.

56C 3 3 1212 Motor dimensions dependent upon motor manufacturer.

34800 BENNETT - FRASER, MI 48026-1686
P (586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

HTO™ 80

PUMPS

by Gardner Denver



HTO™ 80

g

mP

PUMPS

by Gardner Denver

'l P |

|

[N

—2,00—

AT
TNST. DHG.
34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469 HTO™ 80
(800) 563-8006 - www.mppumps.com




HTO™ 80

PR AT
(4) 7/16 HOLES THRU
29156A EGUALLY SPACED DN A
5.875 DIA. B.C.
3.30 1 1/4 NPT DISCHARGE

5/8 BORE - 2.10 DEEP 7.10 =

1 172 NPT SUCTION
4.505,
4.502 )

: - ]
N F 2 ALAE OIH
. c it oy £
: : 00 NIT SCALE
(SERIES 80 SHOWN) 0 = : DD FLERE e a | HOT OIL PUMP - S56C MOTOR | 28156A

34800 BENNETT - FRASER, MI 48026-1686
wi (586) 293-8240 - FAX (586) 293-8469

HTO™ 80
by Gardner Denve (800) 563-8006 - www.mppumps.com



HTO™ 80

—

ELECTRIC MOTOR

19.26

3HP, 3PH, 56C,

230/460 VAC.

NOTE: THIS DRAWING OR PRINT, PROPERTY
AINS PROPRETARY
T SHALL

—

4.75

R.22 TYP.\

1/8" NPT PIPE PLUG (2)

$1.25 DISCHARGE

e

P PUMPS, RETURN

I
'WHEN REQUESTED.

‘COPIED WITHOUT THE WRITTEN CONSENT OF
TO MP PUMPS PROMPILY

@1.50 SUCTIONZ

5.66

[_k

332

@

2.75

J7as)

5.50——

3.50

UNLESS OTHERWISE NOTED
THIRD ANGLE PROJECTION

2PLACEDIM * .020
3PLACE DIM * 010

MP PUMPS, INC.

FRASER, MICHIGAN 48026, US.A.

ANGULAR DIM £ 1°

™ DUCTILE RON ASTM AS536 (65-45-12)
oo ArRov. AE FoR

DO NOT SCALE

CI R
cw. | #1212

EZT
oo, | FULL

=

Z>|®[o|o|m|[n|o

DDDDDDDD

" HTO-80 ASSY.

T

mP

PUMPS

by Gardner

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

Denver

HTO™ 80




HTO™ 80

168 67
(4) @ .625 HOLES THRU, 4.2 41
/ON A $3.500B.C. s
(DISCHARGE)
45°TYP.
(4) @ .625 HOLES THRU,
gNCA gsim B.C.
\ UCTION] ~_|
%l 350
f
©
| " 8.65

I
&

i

|
.725LOT ’l
TYP.
478
o | se1 [
HTO-80 PUMP ASSEMBLY | 32064

34800 BENNETT - FRASER, MI 48026-1686
.,.,M,,P (586) 293-8240 - FAX (586) 293-8469 HTO™ 80
by Gardner Denver (800) 563-8006 - www.mppumps.com




HTO™ 80

29156

ITEM PART NO. DESCRIPTION [ arv. | | 1mEM PART NO. | DESCRIPTION QTY.

1 25666  HOUSING- DUCTILE IRON 1 13 29166  DRIVE SLEEVE S.S. - 56C 1

2 21585  PIPE PLUG- 1/8 NPT ZPS 2 * 14 20168 SEALASSY - 3/4 T-21 CARISIC 1

*3 31518 GASKET- HOUSING 1 15 29162 SEAL HOUSING D - HTO80 1

4 22655  HEX JAM NUT ZPS - 5/8-18 1 16 20765  WASHER FLAT STL 3

5 25910 IMPELLER 5.90 DIA- STL. 1 17 29178 CAPSCREW STL: 5/16-18 X 2" 3

6 29160  ADAPTOR- DUCTILE IRON 1 * 18 20167 LIP SEAL- VITON 1

7 21261 STUD SS: 3/8-16 X 1.63" 6 19 29164  FAN CLAMP- DUCTILE IRON 1

8 21266 LOCKWASHER SS- 3/8" 6 20 33417 SET SCREW STL: 1/4-28 1

9 21268 HEXNUT SS: 3/8-16 6 21 33810  CAPSCREW ZPS - 5/16-18 X 1.75 1
*10 29165  GASKET- ISOLATOR 3 22 33273 SHIELD ZPS - HTO80 & 120 1
* 11 29158  ISOLATOR 2 23 27261 WASHER STL - 7.2MM 1
* 12 29230  O-RING - VITON 1 24 21241 HEXNUTS.S. - 1/4-20 1
* RECOMMENDED REPLACEMENT PARTS

34800 BENNETT - FRASER, MI 48026-1686

,.,,,,,P (586) 293-8240 - FAX (586) 293-8469 HTO™ 80

by Gardner Denver (800) 563-8006 - www.mppumps.com



HTO™ 80

| mem | parTHO. | DESCRIPTION | arv. | | mwem | parTNO. | DESCRIPTION | arv. |
1 31871 HOUSING- DUCTILE IRON 1 11 29158 ISOLATOR 2
2 21585 PIPE PLUG- 1/8 NPT ZPS 2 12 29230 O-RING: VITON 1
3 31518 GASKET- HOUSING 1 13 29166 DRIVE SLEEVE: 56C 1
4 22655 HEX JAM NUT: 5/8-18 1 14 29168 SEAL ASSEMBLY 1
5 25910 IMPELLER 5.90 DIA- DUCTILE IRON 1 15 29162 SEAL HOUSING: DUGTILE IRON 1
6 29160 ADAPTOR- DUGTILE IRON 1 16 29765 WASHER STL 3
7 21261 STUD SS: 3/8-16 X 1.63" 3 17 29178 CAPSCREW STL: 5/16-18 3
8 21266 LOCKWASHER SS- 3/8° 6 18 29167 LIP SEAL- VITON 1
9 21268 HEXNUT SS: 3/8-16 8 19 29164 FAN CLAMP- DUCTILE IRON 1
10 29165 GASKET- ISOLATOR 3 20 33417 SET SCREW STL; 1/4-28 1
34800 BENNETT - FRASER, MI 48026-1686
,MP (586) 293-8240 - FAX (586) 293-8469 HTO™ 80

by Gardner Denver

(800) 563-8006 - www.mppumps.com


http://www.tcpdf.org

